Paramaters from Excel

=e e =2718

An
v := 0.000000365
p =972
9= 981

Variables from Excel:

6.8
. 6.8
Internal Diameters Din :=
10.8
5. Din
1000
6.8x 10 °
-3
D 6.8x 10
88x 10 °
0.011
0.024
0.035
Mass Flow Rates mf =
0.048
0.13
CALCULATIONS
T _2
CSA A= 7P
. mf
Volume Flow Rate Q= ?

Velocity

<
Il
> O



Reynolds Number

—
_(v-D)

v

Re :

MV

1.267 x 104

1.847 x 10
Re =

1.958 x 10

432x 10°

PROBLEM SECTION

Friction Factor Assume

Given
i:—2~log i+ 2.51
\ﬁ 3.7 NRge - \ﬁ

Fn(Nge) = find(f)

Nf:= |for ie0..3
Temp, « Fn(Rei)

Temp

Head Loss per metre:

Hm:

f:=0.02

13.949
13.947
13.947
13.945

1.86 x 104

3.956 x 10°
Hm =

2.05 % 10°

5.4 107
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